ILLUSTRATED PARTS BREAKDOWN - IPB

_ - 1838 Access Plus
Bill of Materials - BOM 1838-095

Item Part Number Description Quantity UM
10 4001-201 Box Control Beige 1838 1 EA
19 1818-030 Keypad Assembly Plastic 1 EA
20 4001-035 Lock N16058BDxSFx2K Key 16120 1 EA
25 1702-501 Cam 7/8" 1 EA
30 1970-010 PCB AccessPlus 1 EA
45 2616-000 Screw Phillips Head 6-32 x 1/4 4 EA
55 2904-002 Screw Round Head 4-40 x 3/8" 4 EA
57 2902-002 Nut Nylon Lock 4-40 4 EA
60 1894-008 Standoff Nylon 3/16x7/16x2-56 4 EA
63 2900-907 Standoff Aluminum 9/16" 6-32 4 EA
65 1804-075 Speaker 2 watt Oval 41x71mm 1 EA
75 4001-018 Weather Stripping 50' rolls 4 FT
90 1971-192 Wire Harness 1838AP Box 1 EA
100 1804-031 Tie Wrap 4" 3 EA
105 1804-060 Transformer 16.5 VAC 20VA plug 1 EA
115 2599-008 Label Patent 1 EA
120 2600-619 Wire Clp-5/8" Concord 770-1209 1 EA
125 2902-003 Nut Nylon Lock 6-32 1 EA
130 3140-045 Label 1812 New Wiring 1 EA
145 2600-884 Label E.T.L. Separable 1 EA
165 2600-732 Nameplate Plastic DKS Big 1 EA
166 2802-040 Washer Push on Clamp 2 EA
167 1897-050 Rubber O Tensioner for Logo 2 EA

1838-066 Manual 1838 AP 1 EA
190 4001-034 Lock N16058BDxSFx2K Key Random 1 EA

1838AccessPlus-A-6-17



1838 Access Plus

1838AccessPlus-A-6-17



